ih 4 5E FEIER Y mE(mM) | BESE
BEHT 3t 53 2LDK 64.79 H19
HrHEHH 38 1LDK 48.6 H17
HrHEHFAE) 5 2LDK 63.91 H13
[FF%Gd Hith 322 3LDK 63.73 H1
(FFGE9 Hih 321 3LDK 63.73 H1
FETAH Hh 404 2LDK 64.92 H12
SFETBE 344 3LDK 63.73 H3
SETBE i 309 3LDK 63.71 S62
SETBE 353 3LDK 69.56 H5
FETBE 364 2LDK 63.78 H7
FRETE Hh 377 2LDK 63.91 H9
5 ET [ 30 388 2LDK 63.91 H9
B A-1 2LDK 66.17 H26
B 423 3LDK 73.71 H15
[=r4oik:u) B-3 2LDK 59.7 H26
FEMM 24(3-8) 1LDK 4548 H8
FEMM 2(1-2) 1LDK 4548 H7
HEEMih 28 (4-4) 1LDK 4548 H8
FEMEM 37(5-5) 1LDK 4548 H9
FEMM 26(4-2) 1LDK 4548 H8
FEMM 8(1-8) 1LDK 4548 H7
bt 3 1] ik 21-1 3LDK 66.6 H3
bt 3 1] ik 2-2 3LDK 63.7 S58
S EH 11-2 2LDK 55.1| H22&MEiE
5 2% [ #h A-2 3LDK 76.2 H8
K E e 4-3 3LDK 63.7 S61
=< H 5-5 3LDK 66.6 S62
ToFal) =AY Bi&2-1 1LDK 42.7 H10
toFal)—nAY ARE3-1 1LDK 427 H8
oFa)—nNAY ARE3-2 1LDK 42.7 H8




